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Day 1: Review Unit 1: Intro to Functions
%E DMAS PREREQUISITE SKILLS
These are the concepts that you NEED to know and be able to DO. You learned them gh-irrgrade 10 math. 4 e
. : ex nt is ¢ t ‘an is not fncl )
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b 3. Evaluating Algebraic Expressions: Find the value of 5x°y + 6xy — 4y —1 ifx=—3andy =2
Note = always sub with Pparantheses .
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4. Graphing : Name the type of relation, the original (untransformed) function, li

tions, then graph.
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6. Factoring: Factor fully.
difference of

a) x> —25y° squares
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7. Solving Equations: Solve.
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9. Trigonometry: Determine the value of 0 rounded to nearest degree and/or X, rounded to nearest tenth

g Finding Findiog &
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1. For the line 3x — 5y = 10 state: 9. Factor fully. &&F x ‘

a) the slope a) 9x3—25x = x(Ax*-29)
S tten 4y slere 13 Ve = x (3x-5)(Bx +5)
_«2 = i b) 6x*+10x +4
5 b) (7 vt T'_-l X==| x=-0%F
VAl A
’.-—"F'--..‘
2. Expand and Simplify (3x — 1)(4x + 5) 10. Solve each equation using the most appropriate method.
- Give answers to one decimal place only where appropriate.

_ (B)() + (x)(5) () (@) + ED(E)
- [Ax? t13x —Ux =S
+lly -5

= (2w

a) x2+4x—21=0
(x-—S)(x+:}—):O
X=3 Xx=-% E {'?,3}
b) (x+2)(x—3)=3(x+1)—9
Tox-6 =2x+3-9
Kl-y-e-Sy-H‘l -9
X*— Ux = o
x(x-U) =9
X=©0 x=Y {O,LIJ
) 0=x?+4x—1

Use QU-Qd(‘?'(ic “ornula
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3. Factor

a) m*-81 — D.O.S
__(m—‘-"l)(m+‘l)

b)) x*-7x-18 = /y+2-)()< )

11. Complete the square and steyﬂne-k—-.e-\_)

=x2+2x-25
=()< +2x+(~() -2%
= (P2 +1) —1-25
= (x+0N*=20

Vener is (-1,-2 6)

=1

4. th€ roots of the equation:
Q) (x—=7)(x+6)=0

X-F=2 X tb="

Roo‘fs Qrc (-6'0) & (7-!0)
0R
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b) 2x2—-3x+1=0
Ax*-2Ax-1x+l=0

2x( x=1) =lx-1)=2
(x-N(2x-1) =0

Li:ry Ax-1=©

x=1,

o Y 7

MIla N
2 [-3|-2,-1

5. Giveny = —3(x — 7)? + 5, state:
a) vertex

b) max or min value

c¢) direction of opening

o) Vertey is (.}. 5)

c) down

may valve 7

13. Solve for the unknown indicated on each diagram to
one decimal place.

NS
N
wlo =X N P o (22.1)1'- 2:18-22 51t
w X = 56b737 3
X =)15-Cosyd E

6. Evaluate.
a) 6°
b) 273

14. An archway has been built over a one-way road. The arch

can be modeled by h = —2x2 + 8x where h is the height of the

arch in metres and x is the horizontal distance in metres.

a) How wide is the arch?

b) At what horizontal distance (to one decimal place)
is the height 3 metres?

¢) What is the maximum height of the arch?
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C) :'2()(2"'1\()
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7. Solve each system algebraically using the method
indicated. Show proper form.

15. Graph y = x% in pencil and y = —2(x — 3)? + 4 in
colour. List the transformations using proper mathematical

language.
a) SUBSTITUTION b) ELIMINATION ‘,ﬂ-.,ly 16. Solve.
X+4y=1 )2X ¥ /"“" 1.\ a) 3x+4=-5 d)AEXI_Z. Cross mult-
3““'2? G Ix=4
P CD3(x—5)—2(y+ 3)=-10 3)(-‘—"? __-_%'_=%E
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-15-2y=b="
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Sy b - X" "9 _
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8. Expand and simplify.
a) 3(x+8)2x—-5)

=3 (le—ﬂ(-tl(aw-‘{a)
=3 (2x™ iy -te)
= bxr+33x—|20

b (x+7)? = (qw;)(qw?)
< l6x?+ S6x +4q
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